Rapid Reasoning | Questions Year5 | Week 6 | Day5

m Megan says, “If | can work out the total m A number of adults and children were
of 534 and 275 in my head, | can work out asked whether they prefer chocolate chip
the total of 5,340 and 2,750 in my head.” cookies or fudge.

The total number of children asked was

Explain why Megan is correct.
double the number of adults.
60 people were asked altogether.

17 children prefer chocolate chip cookies
to fudge.

The number of adults that prefer fudge to
chocolate chip is 9 fewer than the number
of children who prefer it.

Use the information above to complete the

table.
1 mark - .
Number Number
of adults of children T
Chocolate

Chip

Fudge

TOTAL

2 marks
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m Caroline uses the short multiplication
method to work out the answer to 462 x 4.

Anisa says, “That looks like the column
method | sometimes use to add large
numbers together!”

What is the same and what is different
about both methods? Write two answers
for each.

Similarities Differences

2 marks
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